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  Period____Date________________Function Inverses

State if the given functions are inverses.

1)  

  

g(

  

x) = 

 

4 − 

  

3

2

  

x

  

f (

  

x) = 

   

1

2

  

x + 

 

3

2

2)  

  

g(

  

n) = 

  

−12 − 2

  

n

3

  

f (

  

n) = 

  

−5 + 6

  

n

5

3)  

  

f (

  

n) = 

  

−16 + 

  

n

4

  

g(

  

n) = 

 

4

  

n + 16

4)  

  

f (

  

x) = 

   

−
4

7

  

x − 

 

16

7

  

g(

  

x) = 

   

3

2

  

x − 

 

3

2

5)  

  

f (

  

n) = 

 

−

 

(

   

n + 1)3

  

g(

  

n) = 

 

3 + 

   

n
3

6)  

  

f (

  

n) = 

 

2

 

(

   

n − 2)3

  

g(

  

n) = 

  

4 + 
3

4

  

n

2

7)  

  

f (

  

x) = 

  

4

 

−

  

x − 2
 + 2

  

h(

  

x) = 

 

−
1

   

x + 3

8)  

  

g(

  

x) = 

  

−
2

  

x
 − 1

  

f (

  

x) = 

 

−
2

   

x + 1

Find the inverse of each function.

9)  

  

h(

  

x) = 

 

3

  

x  − 3
10)  

  

g(

  

x) = 

  

1

  

x
 − 2

11)  

  

h(

  

x) = 

  

2

   

x
3
 + 3 12)  

  

g(

  

x) = 

 

−4

  

x + 1

-1-
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13)  

  

g(

  

x) = 

  

7

  

x + 18

2

14)  

  

f (

  

x) = 

   

x + 3

15)  

  

f (

  

x) = 

 

−

  

x + 3 16)  

  

f (

  

x) = 4

  

x

Find the inverse of each function.  Then graph the function and its inverse.

17)  

  

f (

  

x) = 

 

−1 − 

  

1

5

  

x

x

y

−6 −5 −4 −3 −2 −1 1 2 3 4 5 6

−6

−5

−4

−3

−2

−1

1

2

3

4

5

6

18)  

  

g(

  

x) = 

 

1

   

x − 1

x

y

−6 −5 −4 −3 −2 −1 1 2 3 4 5 6

−6

−5

−4

−3

−2

−1

1

2

3

4

5

6

19)  

  

f (

  

x) = 

  

−2

   

x
3
 + 1

x

y

−6 −5 −4 −3 −2 −1 1 2 3 4 5 6

−6

−5

−4

−3

−2

−1

1

2

3

4

5

6

20)  

  

g(

  

x) = 

  

−

  

x − 5

3

x

y

−6 −5 −4 −3 −2 −1 1 2 3 4 5 6

−6

−5

−4

−3

−2

−1

1

2

3

4

5

6

-2-
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  Period____Date________________Function Operations

Perform the indicated operation.

1)  

  

g(

  

n) = 

   

n
2
 + 4 + 2

  

n

  

h(

  

n) = 

 

−3

  

n + 2

Find (

   

g ⋅ 

  

h)(1)

2)  

  

f (

  

x) = 

 

4

  

x − 3

  

g(

  

x) = 

   

x
3
 + 2

  

x

Find (

   

f  − 

   

g)(4)

3)  

  

h(

  

x) = 

 

3

  

x + 3

  

g(

  

x) = 

 

−4

  

x + 1

Find (

   

h + 

  

g)(10)

4)  

  

g(

  

a) = 

 

3

  

a + 2

  

f (

  

a) = 

 

2

  

a − 4

Find (

   

g

  

f )(3)

5)  

  

g(

  

x) = 

 

2

  

x − 5

  

h(

  

x) = 

 

4

  

x + 5

Find 

  

g(3) − 

  

h(3)

6)  

  

g(

  

a) = 

 

2

  

a − 1

  

h(

  

a) = 

 

3

  

a − 3

Find (

   

g ⋅ 

  

h)(−4)

7)  

  

g(

  

t) = 

   

t2
 + 3

  

h(

  

t) = 

 

4

  

t − 3

Find (

   

g ⋅ 

  

h)(−1)

8)  

  

g(

  

n) = 

 

3

  

n + 2

  

f (

  

n) = 

 

2

  

n2
 + 5

Find 

  

g(

  

f (2))

9)  

  

g(

  

x) = 

 

−

  

x2
 − 1 − 2

  

x

  

f (

  

x) = 

   

x + 5

Find (

   

g − 

   

f )(

  

x)

10)  

  

f (

  

x) = 

 

3

  

x − 1

  

g(

  

x) = 

   

x2
 − 

  

x

Find (

   

f

  

g )(

  

x)

11)  

  

g(

  

a) = 

 

−3

  

a − 3

  

f (

  

a) = 

   

a2
 + 5

Find (

   

g − 

   

f )(

  

a)

12)  

  

h(

  

t) = 

 

2

  

t + 1

  

g(

  

t) = 

 

2

  

t + 2

Find (

   

h − 

   

g)(

  

t)

-1-
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13)  

  

f (

  

x) = 

 

2

  

x3
 − 5

  

x2

  

g(

  

x) = 

 

2

  

x − 1

Find (

   

f  ⋅ 

  

g)(

  

x)

14)  

  

h(

  

n) = 

 

4

  

n + 5

  

g(

  

n) = 

 

3

  

n + 4

Find (

   

h − 

   

g)(

  

n)

15)  

  

g(

  

a) = 

 

−3

  

a
2
 − 

  

a

  

h(

  

a) = 

 

−2

  

a − 4

Find (

   

g

  

h )(

  

a)

16)  

  

f (

  

n) = 2

  

n

  

g(

  

n) = 

 

−

  

n − 4

Find (

  

f

  

g)(

  

n)

17)  

  

h(

  

a) = 3

  

a

  

g(

  

a) = 

 

−

  

a3
 − 3

Find (

   

h

  

g )(

  

a)

18)  

  

g(

  

n) = 

 

2

  

n + 3

  

h(

  

n) = 

   

n − 1

Find (

  

g

  

h)(

  

n)

19)  

  

h(

  

x) = 

   

x2
 − 2

  

g(

  

x) = 

 

4

  

x + 1

Find (

  

h

  

g)(

  

x)

20)  

  

g(

  

t) = 

 

2

  

t + 5

  

f (

  

t) = 

 

−

  

t2
 + 5

Find (

   

g + 

  

f )(

  

t)

21)  

  

g(

  

x) = 

 

2

  

x − 2

  

f (

  

x) = 

   

x2
 + 3

  

x

Find (

  

g

  

f )(

 

−2 + 

  

x)

22)  

  

g(

  

a) = 

 

2

  

a + 2

  

h(

  

a) = 

 

−2

  

a − 5

Find (

  

g

  

h)(

 

−4 + 

  

a)

-2-
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  Period____Date________________Graphing Radicals

Identify the domain and range of each.

1)  

  

y = 

    

x − 2  + 5 2)  

  

y = 

    

x + 2  − 3

3)  

  

y = 

 

3

   

x + 1  − 4 4)  

  

y = 

 

3

   

x − 1  − 1

Sketch the graph of each function.

5)  

  

y = 

   

x  + 5

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

6)  

  

y = 

   

x  − 2

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

7)  

  

y = 

 

3 + 

  

x

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

8)  

  

y = 

   

x  + 4

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

-1-
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9)  

  

y = 

 

−2

   

x + 2

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

10)  

  

y = 

   

1

2

3

   

x + 1  + 4

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

11)  

  

y = 

    

x − 4  − 2

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

12)  

  

y = 

 

−2 + 
3

  

x

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

Identify the domain and range of each.  Then sketch the graph.

13)  

  

y = 

  

4

   

x − 2  − 1

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

14)  

  

y = 

   

−
3

4

   

x − 1  + 4

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

-2-
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  Period____Date________________Rational Exponent Equations

Solve each equation.

1)  27 = 

   

x

  

3

2
2)  

   

m

  

3

4
 = 27

3)  

   

x

  

−
3

2
 = 

 

1

729
4)  7 = 

   

r

  

1

2

5)  

   

v

  

5

4
 = 243 6)  

   

n

  

3

2
 = 125

7)  

 

(

   

n

 

 − 27)

 

3

2
 = 64 8)  26 = 

 

−1 + 

 

(

 

27

  

x

 

)

 

3

4

-1-



©k n2W0m1N1P pKKujtbaS cSNoxfGtcwSaOrceM rLiL1Ck.0 8 8AzlXll urbiYgrhAt2sO Cr2eUsWeur5vle8dA.f Y AMAaMdTeQ twWi8tihz 1IynGfGiTnTiJtBes fAjlegBexbWrOaL B2z.N Worksheet by Kuta Software LLC

9)  3125 = 

 

(

 

−1 − 

 

18

  

p

 

)

 

5

3
10)  5 = 

 

3 + 

 

4

   

a

  

−
1

6

11)  

  

4

   

b

  

−
3

4
 + 10 = 

 

21

2
12)  

 

−

   

x

  

3

2
 = −27

13)  −54 = 

 

10 − 

  

(

   

m

 

 − 10)

 

3

2
14)  −5126 = 

 

−6 − 

 

5

 

(

  

3

  

x

 

 + 22)

 

5

3

15)  

 

9 + 

 

5
3

 

2

  

m

 

 = 29

16)  3646 = 

 

1 + 

 

5

 

(

  

4

  

r

 

 + 17)

 

3

2

17)  −646 = 

  

−3

 

(

 

65 − 

   

n

 

)

 

3

2
 + 2 18)  

 

−3 + 

 

(

 

8 − 

 

2

  

x

 

)

 

5

4
 = 29

-2-
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  Period____Date________________Simplifying Radicals

Simplify.  Use absolute value signs when necessary.

1)  24 2)  
3

1000

3)  
3

−162 4)  512

5)  
4

128

  

n8 6)  98

  

k

7)  
5

224

  

r7 8)  
3

24

  

m3

9)  392

  

x2 10)  512

  

x2

11)  
4

405

  

x3y2 12)  
3

−16

  

a3b8

13)  
4

128

  

x7y7 14)  
3

16

  

xy

15)  
6

448

  

x7y7 16)  
3

56

  

x5y

Critical thinking questions:

17)  What simplifies into 

 

2

  

mn2 3

5

  

mn2  ? 18)  Simplify 

  

n

 

3 ⋅ 

 

2

  

n
 ⋅ 

   

x
2

  

n

   

y

   

n + 3
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